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Instructions to the candidates :

], FTSE-B S S U AT 5 I AW U F IS R I WA H 2 W5 TH

3 wiefrr famed ¥

This question paper consists of five questions. All the questions have to be

answered. Question Nos. 2 to 5 have an 1nternal choice.

9.  WYA-UF & ol 3% 300 § au fAyif@ a3 we § 1 wfe st J@l <Enen e

TN Wl & A FHH T | UV % I 39 gieAy H fore S =nfer fSeen

a9 3 99 3aed-uH § fEm & fedl ot memm d fo@ T 3W W R

S e foerm | @t Wi UvE # wfEE § O W9E-UF % HTER ® UeAl &

I FAFER <, TH & 999 & fafa= 9 & S| dAfad 9 7 s |9 § o

ST q9T 3T W= 3T Y & W 3 fom 9 | udien H 9 dhasheiel @
IEm § foen s g §, 9Ef=fEs T8 |

14(1) P.T.O.




2
The total number of marks of the question paper is 300 and the time allotted

is 8 hours. All questions carry equal marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
in your Application Form. No marks will be awarded, if the answer 1s written
in any other medium. All the five questions must be answered. Questions
should be answered exactly in order in which they appear in the question
paper. Answers to the various parts of the same question should be written
together compulsorily and no answers of other questions should be inserted

between them. Regular calculator alone can be used in the exam, not the

scientific one.

3. UUH Wed o IuF e fowmd 20 wiear wvd E | ye #1 SW Tk HgEl 9
gfed § A1 BE |
The first question will be of short answer type consisting of 20 compulsory

questions. Each one is to be answered in one or two lines.

4. S8 v §iHr &1 ME T 3T IEAvd U Y |

Wherever word limit has been given, it must be adhered to.

5. e fod wva § fHE TR B FE U A AAHF TEHR F A T, A WA &
fe1 do 3709 ®9a ° § U ®9ad OHF @A SHA |

In case there is any error of printing or factual nature, then out of the Hindi

and English versions of the question, the English version will be treated as

standard.
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1. Tfafer vos oY 3T09 999 &1 S 1 A1 2 ufFad 9 Sifed e

Answer the following questions in one or two lines each :

(1)

(i1)

(212)

(7g)

(V)

(U1)

(vil)

M1412010

3

IR F FAwEId w1 ATEd |

Purpose of studying history.

HEAYIYTIU] ohic] |
Mesolithic Age.

AT |

Dholavira.

-

=" A AT

Theory of Mandala.

‘T |

“Pratitva-Samutpad.”

Y . X
S EEAGEIFE

“Anekantvad.”

YN T

Adoka’s Dhamma.

14(1)
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(viff) HrET WO

Sanchi Stupa.

(1x)  UHIW |
Ramgupta.

(x)  TBHE |
Varahmihira.

(xz) dUgT &l <H Y5 |

Second battle of Tarain.

(x11) HFJd |

Maqtab.

(xif1) FAHASH] TIET

Mansabdari system.

Abhdul Rahim Khankhana.

M1412010 14(1)



(xp7) STEIHH |

Ashtpradhan.

(xviL) 3E-T-3THaL |
Ain-i-Akbari.
(xviil) &G AL |
Ustad Mansur.
(xix) RIS |
Nauroj.
(xx) IH9d F 717%:!? g3

Third battle of Panipat.

2. ﬁrﬁmﬁﬂwﬁaﬁﬁﬁuﬁrmaﬂheﬁf@| 60

Describe the state of religion in Indus Valley Civilization.
AUl
(Or)
o foe- G A1 G B UF ARGE 30 g ? STEd Hifed |

Did Indus-Saraswati civilization have an abrupt end 7 Elaborate.

M1412010 14(1) P.T.O.
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3. AT USY YyEd $ gk % sfaem # O i $H TE PIGRR] HET

g ? 60

In what way did the Mauryan age constitute a landmark in the history of

the development of administration in Indian state ?

HAAT
(Or)

IETE 1 AfF-fam w9 fFY '9 § w0 — TF WIah A T GUE 7

How would you characterise Sher Shah — an innovator or a reformer ?
4. “sUESEl ® ITEARTA B OERNUC Al FUA FIHITHS UL el 7 fFE=Er
TSI | 60

“Mughal architecture was at its zenith during the reign of Shah Jahan.”

I hscuss.

AT

(Or)

e YR § Teh T @E ©fqd & 3 & 3HEd gT 7

Why did the Marathas fail to establish a lasting empire in India ?

M1412010 14(1)
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5. Fefefed 9 9 ok 9 w® ofaw fewfmet fafes - 15%4=60

Write short notes on any four of the following :

'll-,'_

(7) ERE
Rig Veda;
(17) ?:'a:l@'m;

Hsuan Tsang;
(i) SASER FEest sl AR e i,

Market regulation policy of Alauddin Khilji;
(jvy  HiAT 5T

Malik Ambar;

By Eﬁ_"f—Q—Ec_'HEﬁ';
Din-1-Tlahi:
(i) SIOAHFNR HT 99§

War of Succession.

M1412010 14(1)
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Instructions to the candidates .

| wmyR-E i FaAE YA € W YT F SWITE I Y H 2 W5 TF
4 aafs faweg ©
This question paper consists of five questions. All the questions have to be

answered. Question Nos. 2 to 5 have an internal choice.

2.  T-TF & ®HA % 300 ¥ qur fruifm wwa 3 w2 § | AR Iy AW T T
T @ mft ye B o 9HE ¥ | WA % Sw SE A H{ fam I 9 99
o AN N SEd-TF O fea § 1 fedlt ot memm ¥ e TR I W BE
s qE AT | et ute Wed & e ¥ o vvE-T5 3 SER € WAl %

IW FEEER 2, TF A YA F fafeA anll F T FeeE ¥9 9 @ 99§ foe
I U I AE T WE ¥ T T T Wg . e H g haaad §
gam ° fom 1 v = T qAat=ieE T80
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2
The total number of marks of the question paper is 300 and the time allotted

is 8 hours. All questions carry equal marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
in your Application Form. No marks will be awarded, if the answer 1s written
in any other medium. All the five questions must be answered. Questions
should be answered exactly in order in which they appear in the question
paper. Answers to the various parts of the same question should be written
together compulsorily and no answers of other questions should be inserted
between them. Regular calculator alone can be used in the exam, not the

Scienftific one.

wgq yvq @y I9dg B fEeE 20 #fEr 99 2M | Wde WA H IW T AU
dr dfsqar § < BR

The first question will be of short answer type consisting of 20 compulsory

questions, each one is to be answered in one or two lines.
wE veg W @ M ¥ IR STEvE W hL

Wherever word limit has been given, it must be adhered to.

In case there is any error of printing or factual nature, then out of the Hindi
and English versions of the question, the English version will be treated as

standard.

M1422010 14(2)
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ﬁmﬁ@ﬂaﬁﬁﬁﬂwﬁﬁ@rmwm1mzﬁﬁwﬁﬁﬁﬁﬁ:20x3=eo

Answer the following short answer type questions in 1 or 2 lines each :

(@) HAREEH HI AOEd e F S I S A ge WEE R AR A
faam en 7/
Which two prominent French centres did the British capture during

the Third Battle of Karnataka 7

p) ‘T a<ied’ W 91 SR Rl er] fRA T
What was ‘Permanent Settlement’ and where was it applied 7

) TS H 1854 & foeeo 93 (Wood’s Despatch) & a7 eI gAE H g 7
\Mention anv two recommendations of the Wood’s Despatch of 1854.
& gL 7

Which prominent works of Public Work were undertaken during the

)

Governor-Generalship of Lord Dalhousie

-

(e) < fogtare o7 W@ @ 3R wEl H R 7

Why and where was Jallianwalla Bagh meeting called 7

14(2) P.T.O.



(H  dqeEm Y HE A ?

Who was Tatya Tope ?

@ ‘v = FEE w1 fagr oo ew fEEd o en 2

What was the theory of ‘Drain of Wealth’ and who propagated 1t ?

(h) YRa § eW-Fd A<KIH & Y@ Td1 ®H o9 2

Who were the prominent leaders of Home-Rule Movement in India ?

() F9 AN Fg Tl EEsr 7 ‘afessd TEE "y w1 AE @ 7

When and where did Dr. Ambedkar lay the foundation of ‘Bahishkrit

Hitkari Sabha’ ?

() " qEIE R 9 ?

What was Munich Pact 7

k) WY I T wi (1789) w1 fHA dfgsiftaa 3 yRa twar ?

Who were the intellectuals who inspired the French Revolution

of 1789 7

M1422010 14(2)
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() AT Ul % UHE Je¥d R’ 9 7

What were the main objectives of Nazi Party 7

(m) UfE =1 wfy =1 yg@ g ud fafed |

Write any two provisions of Treaty of Paris.

(n) 1917 &I TH FHI & HlE IR &I HRU =BT |

State any four main causes of Russian Revolution of 1917.

(0) 1929 w1 3Tk WEME=I <h1 SUE T F J9E TSI/

What were the effects of Economic Depression of 1929 on Japan 7

p T WA-AE-TF 3 FE IR F T ] AR = 7

Which society was established by Dr. Sun-Yat-Sen and why 7

(@) fTeda fava g =1 SHG | &= 996" ST 7

How was Gerﬁ'lany affected by Second World War 7

(r) ‘T 1 A’ B F oAfvuE 7 oC

What is the meaning of ‘Policy of Non-Alignment’ 7

M1422010 14(2) P.T.O.
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(s)  ¥eAM=H W A A1 ? g% T yH@ Tl gro e frer T 2

What was Atlantic Charter ? Who were the prominent leaders to

declare it ?

(ty B-=-fag |9 9 ?

Who was Ho-Chi-Minh ?

2. ‘%@ﬂﬁﬁr’ﬁwaﬁwm%?1857w“%rﬁdﬁw—$3—ﬂquamaﬁ=r
STy |

What do you understand by ‘Doctrine of Lapse’ ? Describe its responsibility

tor the Revolt of 1857,

Discuss the chief factors which contributed to the political consciousness

among the Indian people.

LA

T B AKNE WHA e § A T # w5t w5 gewied st

Evaluate the contribution of Lord Ripon to the Internal Administration of

M1422010 14(2)



HAdT

(Or)

YR AR W Te U faew SR # e ghen SR

Critically evaluate the Domestic and Foreign policy of Napoleon Bonaparte.

4, ‘T HRI A A S g e gg F A N Y 9 " S50 wYT F STHEES

TR hifSd |

“The treaty of Versailles sowed the seeds for the Second World War.”

Critically examine the statement.

HAJT

HATATAATHS: U hifaTy |

How tar did the policy of Non-Alignment succeed in solving the problems

of Third World ? Critically examine.

5. HeAfEd 7 9 foF 9 W dgfag frufet fafes 4x15=60

(1) WHT T &-1757

M1422010 14(2) P.T.O



(i)  Torefid T98-310s Oy

(ii) HETH Tl Ug TEedN 3Tl
Gv) STHET &1 WE= U™

(v) gcll @ qHIfel

(Vi) T[T T FEERT HI-1949 |

Write short notes on any fm,;r of the following :

(1) Battle of Plassey-1757

i1v  Ranjit Singh-English Relations

(it1)  Mahatma Gandhi and Non-cooperation Movement
(lv) American War of Independence

(v) [taly and Mussolini

(vi) The Communist Revolution of China-1949.

14(2)




